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Ogel vEgAAg Eojzh (84 7-10& AAE 98 o) 8) g€ tdsts #st §& AFsk

2.y +25x=0 3.y =1+001?
4,y +3:%%2=0 5.y =xy/2
6.y = —k?
EolAP & A3 Holn thge] 27|t A& Fojg
12.' = =xly, y)=V3 15.0  +y=0, y2) = -2
1. +x*=0, y0) =1 15. €' = 2(x + 1)y%, y(0) = 1/6

16,y =1+ 4y% »0)=0
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Mol egEA] o, g YN o] SHv|ELHAAE Bl HE Falek

7. 2xydx + x2dy =0 8. —wx 2dx+xldy=0
9. sinhx cos y dx = cosh x sin y dy 10. €*%dr + 3rd6) = 0
11. e 2 (rdr — r?de) = 0 12. (coty + x%)dx = xcsc? ydy

2o EYEAe] Y, x7(at 2M. &2 AR EYAHAV T dlA =g UE F & A
g ol &3t 271@ BAlE Bl (AAE EolAFE R},

13. 3y?dx +xdy =0, ¥(1) =1}

14. 2v~'cos 2xdx = y~ % sin 2x dy, W(wld) = 3.8

15. 2xvdv = (2 +y)dx, W) =2

16, ye©dx + 2y + e5)dy =0,  y0) = —1

17. [(x + 1)e* — &¥] dx = xe¥ dy, y(1) =0

18, 2sin wydx + wcos wydy = 0, ¥0) = 72w

19. 2 sin 2x sinh y dx — cos 2x cosh y dy = 0, ¥0) =1
20. avdx + dy)e¥ =0, ¥(0) =2 |



